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QUESTION 1

Which statement about referential constraints is true?

A. A referential constraint can be defined against a catalog table.

B. A referential constraint can be defined on both tables and views.

C. A referential constraint is used to enforce a logical rule about values of one or more columns in one or more tables.

D. A referential constraint is used to enforce a logical rule about how values in one or more columns in a table should be
referenced in a query.

Correct Answer: C

QUESTION 2

What is the MAX_LOG database configuration parameter used for?

A. To limit how many log files a single transaction can span.

B. To limit the percentage of primary log space a running transaction can consume.

C. To limit the total number of primary and secondary log files a database can consume.

D. To limit the total number of secondary log files a transaction can consume before infinite logging is enabled.

Correct Answer: B

QUESTION 3

Which of the following table types is NOT supported by the load utility?
A. A Temporal table

B. A Range Partitioned table

C. A Global Temporary table

D. A Multidimensional Clustering table

Correct Answer: C

QUESTION 4

Given the following statement:
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CREATE TABLE departrrent
(deptno  CHAR(3) NOT NULL PRIMARY KEY,
deptname VARCHAR({Z29) NOT MULL,
marno CHAR(E,
admrdept CHAR{3: NOT MULL,
lozation CHAR(16))

How many constraints are present in the DEPARTMENT table?
Al
B. 2
C.3
D.4

Correct Answer: D

QUESTION 5
Which action can a DBA take to retrieve bufferpool metrics information?
A. Ensure the MON_OBJ_METRICS configuration parameter is enabled and query the BP_HITRATIO table function.

B. Ensure the MON_ACT_METRICS configuration parameter is enabled and query the BP_HITRATIO administrative
view.

C. Ensure the MON_OBJ_METRICS configuration parameter is enabled and query the MON_GET_BUFFERPOOL
table function.

D. Ensure the MON_ACT_METRICS configuration parameter is enabled and query the MON_GET_BUFFERPOOL
administrative view.

Correct Answer: C
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